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z = x3 + y3 − 3xy

£��S¡e�����8§¥�8���6 k¡����¨�z b�!©l¦Iª«¡� k�6§¥�¬ b�¨¡��6� � £���¤��¥�6� (0, 0) £��S¡ (1, 1) �� k�¨­G b�S b®'£�®¯ª�°6±F²D�� k�¨­³��´� k®0£�®
�����S b®¬®��%²
µ �,�\�%§:�. b®¬®¬���³�z k�F¡� b�F¶_´��.�¥�6®h�·¡����¸¢S£���¤��¥ k¦I� u = sinx sin y sin z £S�!�.���¹¡��6�¸º¹�6ª	�6�zª	�%¡� b�S»I£���»

x + y + z =
π

2
(x > 0, y > 0, z > 0).

¼��,�\�6§$�¥ k®¬®¬���³�z k��¡� b�F¶_´��.�¥�6®h�·¡����¹¢�£S��¤��¥ k¦I� u = yk
1 + yk

2 + · · · + yk
n
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y1 + y2 + · · · + yn = nb, b > 0, k > 1.
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u = x2 + y2 + z2 + 2x + 4y − 6z, x, y, z ∈ R.
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u = sin x + sin y + sin z − sin(x + y + z), 0 ≤ x ≤ π, 0 ≤ y ≤ π, 0 ≤ z ≤ π
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f(x, y) =
sin x

cos y

 b® � £���¤�� (0, 0) ª� k§A°6£GËÈ�6�¥®¬���4¡��6��Ö��.¡��z£��S» o(||h||4) §$¦�±r k�¸ÒÕÔS�¸¡� k��¢S£���¤��¥ k¦I�

g(x, y) = 1 + �I�.�6��¦I�.��� (1 + x + y

1 − x + y

)

 b® � £���¤�� (0, 0) ª� k§A°6£GËÈ�6�¥®¬���4¡��6��Ö��.¡��z£��S» o(||h||3).

×


